Cc-5

NTOT=4.89E 14 DEBYE=5.36E-05 LAMBDA=1.93E 03 LNLMBD= 7.56

N1=2.48287E 14 N2=2.52899E 11 N3=2.33234F 14 N4=7.52643FE 12 N5=2.71852E 06

SIG-2
0.00E-01
7.01E 00
3.78E 00
1.57€ 00
7.93E-01
5.30E-01
3.98E-01
1.59E-01
T.96E-02
3.98E-02
2.,65E-02

DT-1

1. 94E-07
-9.19E-09
-4, 64E-C9
-1.01E-09
-2.66E-10
-1.20E-10
-6.75E-11
-1.08E-11
-2.71E-12
-6.786_13
-3. 01E"13

DT-2
0.00E-01
1.38E-08
3.26E-09
2.80E-10
3.67E-11
1.106-11
4.65E-12
2.99E~-13
3.74E-14
1.38€E-15

LAM-1
7.21E 00
7.06E-01
2.67E-01
5.17E-02
1 .3‘0E-02
SOQTE—OB
3.37E-03
5.40E-04
1.35E-04
3.37E-05
1.50E-05

LAM-2
0.00E-01
1.63E 00
9.82E-01
4,33E-01
2.20E-C1
1.47E-01
1.11E~01
4o43E-02
2.,22E-02
1.11E-02
7.38E-03

NTOT=4.59E 14 DEBYE=5.60E-05 LAMBDA=2.15E 03 LNLMBD= 7.67

N1=2.42577E 14 N2=S.59048E 10 N3=1.89513E 14 N4=2,65319E 13 N5=8.00634E 07

SIG-2
0.00€E-01
6.83E 00
3.69E 00
1.54E CO
7.75E-01
5.18E-01
3.88E-01
1.55E=01
7.77E-02
3.89E-02
2.59E-02

DT-1

2:15E=07
-9.84E-09
-4.91E-09
-1.06E-09
-2+ T9E~10
=1 «25E=10
-7.07E-11
-1l.14E-11
-2.84E-12
-7.10E-13
-3.16E-13

DT-2
0.00E-0O1
1.45€~-08
3.39E-09
2.89E-10
3.79e-11
1.13E-11
4,79E-12
3.08E-13
3.85E-14
4.81E-15
1‘43E-15

LAM-1
8.00E 00
T.24E-01
2.T2E-01
5«24E-02
1.35€E-02
6.04E-03
3.40E-03
5.46E-04
1.37E-04
3.41E-05
1.52E-05

LAM-2
N.00E-01
1.7T1E 00
1.03E 00
4.52E-01
2.30E'01
1.54E-01
1.15E~01
4.62F-02
2.31E-02
1.15E-02
7.70E-03

NTOT=4.32E 14 DEBYE=5.T3E-05 LAMBDA=2.33E 03 LNLMBD= 7.75

N1=2.46524E 14 N2=3.56842F 10 N3=1.23827E 14 N4=6.1346T7E 13 N5=1.17153E 09

SIG-2
0.00E-01
6.80E 00
3.71E 00
1.56E 00
7.87E-01
5.26E-01
3.95E-01
1.58E-01
T7.90E-02
3.95E-02
2.63E-02

DT-1

2.29E-07
-1.05E-08
-5.61E-09
-1. 26E'09
-3.35E~-10
-1.50E-10
-8.50E-11
~1+37E~11
=-3.42E-12
-8.54E-13
-3.80E-13

DT-2

0. 00E-O1
1.71E-08
40216—09
3.71E-10
1.47E"11
6.22E-12
4,00E-13
5.00E~-14
6.25E-15
1.85E-15

LAM-1
8.59E 00
T.79E-01
3.02E-01
5.96E-02
1..54E-02
6.91E-03
3.90E-03
6.25E-04
1l.56E-04
3.91E-05
1.74E-°5

LAM=-2
0.00E-01
1.81E 00
1.10E 0O
4.86E-01
2.48E-01
1.66E-01
1.24E-01
4 .98E-02
2.49E-02
1.25€E-02
8.31E-03

NTCT=4.08E 14 DEBYE=5.84E-05 LAMBDA=2.52E 03 LNLMBD= 7.83

N1=2.51131F 14 N2=1.17538E 10 N3=€.20937E 13 N4=9.45044E 13 N5=9.33224E 09

P= 0.001 T= 15000.
B OM-TAL SIG-1
0. 0.00E-01 3.89E 01
500. =-2.88E CC 1.80F QO
1000. =5.7¢E 00 5.78E-01
2500, =le.44E 01 1.07E-01
5000. =-2.88E C1 2.74E-02
75C0. =-4.32E 01 1.22E-02
100C0. =5.7¢E C1 6.90E-03
25000. =-1.44E C2 1.11E-03
50000. =2.88E C2 2.T6E-04
100600. =5.76E €2 6.91E-05
150000. =8.63E 02 3.07E-05
p= 0.001 T= 1¢éC00.
B CFM-TAU SIG-1
0. 0.00E-C1 3.86E 01
5S00. =-2.8¢E CO 1.76E 0OC
1000. =5.72E CC 5.69E-01
2500. =-1.432E C1 1.05E-01
5000. =-2.8€E Q1 2.69E-0Q2
10000. =-5.72E C1 6.78E-03
250C0. =1.43E 02 1.09E-03
50000. =-2.86E C2 2.72E-04
100000. =5.7ZE 02 6.80E-05
150000. =-8.57E 02 3.02E-05
P= 0.001 T= 17000.
B CM-TAU SIG-1
Q. OOOOE'OI 3-63E 01
5C0. =2.5¢E CO 1.88E 0OC
1000. =5.12E CO 6.26E-01
25C0. =-1.28E 01 1.18E-01
5000. =-2.56E 01 3.05E-02
7500. =-3.84E 01 1.36E-02Z
100C0. =5.12E Q1 7.69E-03
25000. =-1.28t C2 1.23E-02
500C0. =2.56E C2 3.08E-04
100000. =5.12E €2 7.71E-05
150000. =7.68E 02 3.43E-05
P= 0.001 T= 180C0.
B CF-TAY SIG-1
0. 0.0CE-01 3.51E 01
500. =2.36E 00 1.98E 0C
10C0. =4.732E CO 6.73E-01
2500. -1.18E €1 1.30E-01
5000. =2.36E 01 3.36E-N2
7500. =3.54E C1 1.51E-02
10000. =-4.73E (1 B8.49E-03
25000. -1.18FE C2 1.36E-03
50000. =2.36E 02 3.41E-04
100000. =-4.73E C2 «51E-05
150000. =-7.09E 02 3.78E-05

SIG-2
0.00E-01
6.82E 00
3.75E 00
1.59€E CO
8.02E-01
5.36E-01
4.02E-01
1 .615“01
8.05E-02
40025-02
2.,68E-02

0T-1

2. 46E-07
-1.12E-08
-6.28E-09
"1. 46E-09
-3-90E"10
-1. 76E-10
-9.92E-11
-1.59E-11
-3,99E-12
-9, 97E'13
-4,43E-13

DT-2
0.00E=01
5.01E-09
4.55E-10
6.05E-11
1.82E~11
7.69Eg12
4.94Ex13
6.18E-14
T«T3E%#15
2.29E-15

LAM-1
9.26E 00
8.35E-01
3+.33E=01
6.69E-02
1.74E-02
T.79E-03
4.39E6-03
7 0055—04‘
1.76E-04
40415_05
1.96E-05

LAM-2
0.00E-01
1.92E 00
1.17€ 00
5.23E-01
2 067F‘01
1.79€-01
1.34E-01
5.38E-02
2.69F—02
1.34E-02
8.96E-03

e e



P= 0.001

T= 19000C.

C-6

NTOT=3,86E 14 DEBYE=6.03E-05 LAMBDA=2.74E 03 LNLMBD= 7.92

N1=2,.48831FE 14 N2=3,52543E 09 N3=2.61279E 13 N4=1.11277E 14 N5=4.93428F 10

B
0.
500.
1000.
25C0.
5000.
7500.
10000.
25000.
50C00.
1000C0.
150000.

P= 0.001 1= 2C000.

Cr-TAU
0.00E-0C1
-2.38E
-4.765
-lclqE
‘2.38E
=351k
-4,T6E
-1l«1SE
=2+38E
-4.765
-7-14E

SI1G-1
3.55E 01
1.55E 00
6.64E-01
1.28E-01
3.31E-02
1.48E-02
8035E-03
1.34E-03
3.35E-04
€.38E-05
3.T72E-05

SIG-2
0.00E-01
6.76E 00
3.72E 00
1.57€ 00
T.94E-01
5.31E-01
3.98E-01
159E~-01
T.97E-02
3-99E-02
2.66E-02

D=1

2.69E-07
~-1+19E~-08
-6.,61E-09
-IQSZE-OQ
-4,05E-10
-1.82E-10
~1+03E-10
-1l.66E-11
-4,14E-12
-1.04E-12
~4,60E~-13

DT-2
0.00E-01
2.04E-08
5.18€E-09
4.665-10
& 19E=11
1:85E=11
7.86E-12
5.05E-13
7.90E-15
2.34E-15

LAM-1
1.02E 01
8.65E-01
3.43E-01
6.84E-02
1.,78E-02
T<95E-03
4.48E-03
7 .20E-04%
1.80E-04
4 .,50E-05
2.00E-05

NTOT=3.67E 14 DEBYE=6.28E-05 LAMBDA=3.01E 03 LNLMBD=

LAM=-2
0.00E-01
2.02E 09
1.23E 00
5.48E-01
2+19E7QY
1.87E-01
1.40E-01
5.62E~-02
2.81E-02
1.41E-02
9.37E-03

8.01

N1=2.41202E 14 N2=1.06€55E (9 N3=1.05428E 13 N4=1.15026E 14 N5=2.02736EF 11

B
C.
5C0.
1000.
2500.
£00C.
15C0.
10000.
25000.
50000.
100000.
15C0CC.

P= 0.0C1 7= 21000.

gM-TAU
0.CCE-01
-2.54E
-5.C8E
=12 TE
-2.54E
-3.81E
-50085
=Lk
—2.5§E
-SOCSE
-7062E

SIG-1
3.7CE 01
1.83E 0C
6.16E-01
1.17€E-01
3.01E-02
1.35E~02
7.59E-02
1.22E-03
3.04E-04
7.61E-05

'3.38E-05

SIG-2
0.00E-01
6.62E 00
3.62E 00
1.53E 00
7.70E-01
5.14E-01
3.86E-01
1.55E-01
T.73E-02
3.86E-02
2.58E-02

DT-1

2.98E-07
-1.27E-08
-6.64E-09
= 1. 4TE<Q9
-3.,89E~-10
=1+ 75E=10
-9.88E~-11
=1+59E~11
=3,91E~12
=9+92E~13
=4. 41E-13

DT-2
0.00E-01
2.00FE~-08
4.84E-09
4.21E~-10
5.55E-11
1.66E~-11
T.04E-12
4052E-13
5.65E~14
7.07E~-15
2+.99E=15

LAM-1
1.13€ 01
8.70E-01
3.36E-01
6.545‘02
1.69E-02
7.56E-03
4.26E-03
6.84E-04
1.71E-04
4 ,28E-05
1.90E-05

LAM-2
0.00E-C1
2.11E 20
1.27€ 00
5.61E-01
2.85E-01
1« 9LE~01
1.43E-01
5.T4E-02
2.87E-02
1.43E-02
9.57E°03

NTOT=3.49E 14 DEBYE=6.57E-05 LAMBDA=3,.,30E 03 LNL¥BD= 8.10

' N1=2.31752E 14 N2=3.46178E C8 N3=4,44520E 12 N4=1.12599E 14 N5=7.03285E 11

B
0.
500.
10C0.
2500.
50CQC.
75C0.
100C0e.
25000.
5000C.
1000C0.

1500C0. .
P= 0.001 1= 22000.

Cv-1AU

0.CCE-C1
-2.16E
~ e SLE
~1s38E
-2.76E .
~-4.14E
‘5.525
-1.38E
-2.76E
-5.52E
-8.28E

SIG-1
3.88E 0Ol
1.68E 00
5.59E-01
1.04E-01
2.6TE-02
15196502
6.715-03
1.CEE-03
2.6SE-04
6.73E-05
2.99E-05

SIG-2
0.00E-01
6.45E 00
3.51E 00
l.47E €O
T«40E-01
4,94E-01
del1ESTOL
1.49E-01
70435-02
3.71E-02
2.48E-02

DIl

3.30E-07
-1.33E-08
-6.52E-09
rle29E=09
~3+63Ex10
-1.63E-10
=S.19ET11
-1.48E-11
‘3.69E-12
-9,23E=13
-4.10E-13

DT =2
0.60E-01
1.90E-08
4+.35E-09
3.64E-10
4, T6E-11
1-42E‘11
6.02E-12
3.86E-13
4.83E~-14
6004E‘15
1.79E-15

LAM-1
I<P5E 01
8.62E~-01
3.21E-01
6.,10E-02
1.57E-02
7.01E-03
3.95E-03
6.33E-04
1.58E-04
3.96E~-05
1.76E-05

NTOT=3.34E 14 DEBYE=6.86E-05 LAMBDA=3.61E 03 LNL4BD=

LAM-2
0.00E-01
2.19E 00
1.30F GO
5.68E-01
2.88E-01
1.935‘01
1.45E-0l
5.79E-02
2 .89E-02
1.45E-02
9.65E-03

8.19

N1=2.22442E 14 N2=1.21729E 08 N3=2.03142E 12 N4=1.07010E 14 N5=2.13030E 12

B8
0.
5C0.
10C0.
2500.
5000.
75C0.
10060.
25000.
50000.
1€00CQ.
1500C0.

Cr-TAU
0.CCE-C1
-3.CCE
-54SSE
-1.50E
-3.0CE
-4.505
-5.995
-1.50E
'3.005
-SOGSE
-8.SSE

SIG-1
4.,07E 01
1.54E 00
5.05E-01
9.22E-02
2.36E-02
1+C5E=02
5.93E-03
9.51E-04
2.38E-C4
5.95€E-05
2.64E-05

SIG-2
0.00E-01
6.26E 00
3.39E 00
1.41E 00
7.11E-01
4.75E-01
3.56E~-C1
1.43E-01
T.13E-02
30565‘02
2.38E-02

DT-1

3.64E-07
-1.38E-08
-6.33E-09
-1.30E-09
-3.37€-10
-1.51E-10
-8.52E~11
-1.37E-11
=3,42E=12
-8.55E~-13
-3.80E-13

DT-2
0.00E-01
1.78E~-08
3.88E-09
3.13E-10
4.07E-11
1.21E-11
5.13E-12
3+29E~-13
4.12E~-14
5.15E-15
1.53E-15

LAM-1
1.38E 01
8.48E-01
3.056E-01
5.66E—02
1.45E-02
6.47E-03
3.65E-03
5.85E'04
1.46E-04
3-66E-05
1062E-05

LAM-2
0.00E-01
2.26E 0C
1.33E 00
5.73E-01
2.90E-01
1.94E-01
1.45E-01
5.82E-02
2.91E-02
1.46E-02
9.70E-03




